


With � = 1, Equation (5) can we written as
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Sincer = r k � � k = �K � � 1L1� � � � k we can write this as
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and since
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wherez is the share of total revenue collected from lump sum taxation. We setge = Ge
Y =

0:0535 to match education as a share of output in the data described in Section 3. In

Section 3, we consider di�erent types of non-education expenditures. For our calibration, we

set gu = Gu
Y = 0:0204corresponding to the share of output spent on public safety. The value

of �





maximized at age 43 and is 90% higher at that point than at age 22. Additionally, human

capital early in life increases su�ciently to overcome depreciation so that the human capital

pro�le is a smooth, single-peaked function of age.

Speci�cally we iterate on � 6 to satisfy these conditions. For each iteration of� 6 we set

� 7 = a� 6 a� 6 � 1 at a = 24 a� 6 � � 7a is

� 7 comes from setting the �rst derivative of this equal to





The Bureau of Labor Statistics reports that hours worked peak between ages 35-44 and

at this point are 65% higher than average hours worked for those aged 20-24. We take the
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